
Chemistry 11, Discussion 11/1/10 Fall 2010 

Working with Hydrogen Atom Orbitals – Solutions 

 

 

A. 

  
1. 2s  

2. n=2, l=0, ml=0 

3. 1 radial node, 0 angular nodes 

4.  
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B.  

 

 

 

 

 

 

 

 

  

 

 

1. 3pz  

2. n=3, l=1, ml=0 

3. 1 radial node, 1 angular node 

4. 
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C. 

 

 

 

 

 

 

 

 

 

  

 

1. 3dyz  

2. n=3, l=2, ml cannot be specified 

3. 0 radial nodes, 2 angular nodes 

4. 
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D.  

 

 

 

 

 

 

 

 

 

 

 

1. 4py  

2. n=4, l=1, ml cannot be specified 

3. 2 radial nodes, 1 angular node 

4. 

 
 

 

 

 

 

 


